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lrnportant Instruction to Exami ners;-

1) The answers should be examined by key words & not as word to word as given in the model answers
scheme. !

'eifnu rnodel answers & answers written by the canilidate may vary but the examiner may try to acssess
the understanding level of the candidate'

3)The language errors such as grammatical, spelling errors should not be given more importance'

4) While assessing figures, examiners, ffioy give credit for principle components indicated in the figure.

.The figures drawn by candidate & model answer may vary. The examiner may give credit for any
equivalent figure drawn.

S) Credit may be given step wise for numerical problems. ln some cases, the assumed contact values may
vary and there may be some difference in the candidate's answers and model answer.

6) ln case of some questions credit may be given by judgment on part of examiner of relevant answer
based on candidates understanding.

Z) For programming tanguage papers, credit may be given to any other programme based on equivalent
concept.
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